

REPUBLIC OF TURKEY
FIRAT UNIVERSITY
THE GRADUATE SCHOOL OF NATURAL AND APPLIED SCIENCE



**SOLUTION OF INVERSE PROBLEMS FOR STURM-LIOUVILLE
PROBLEM ENERGY-DEPENDENT POTENTIAL**

Aram Khaleel Ibrahim BAJALAN

(142121106)

Master Thesis

Department: Mathematics

Program: Analysis and Functions Theory

Supervisor: Prof. Dr.Hikmet KEMALOGLU

DECEMBER-2016

REPUBLIC OF TURKEY
FIRAT UNIVERSITY
THE GRADUATE SCHOOL OF NATURAL AND APPLIED SCIENCE

SOLUTION OF INVERSE PROBLEMS FOR STURM-LIOUVILLE PROBLEM ENERGY-
DEPENDENT POTENTIAL

MASTER THESIS
Aram Khaleel Ibrahim BAJALAN
(142121106)

Delivering Date to the Institute : 28 November 2016
Defensing Date : 15 December 2016

Supervisor : Prof. Dr. Hikmet KEMALOGLU(Firat Uni.) 
Member: Associated Prof. Dr. Mahmet ISIK (Harran.Uni.) 
Member: Associated Prof. Dr. Emrah YILMAZ(Firat.Uni.) 

DECEMBER-2016

ACKNOWLEDGMENTS

First of all, I would like to thank God for giving me the strength and courage to complete my master thesis. Also, I would like to express my special thanks to my supervisor, Prof. Dr. Hikmet KEMALOĞLU. Without him, it would be impossible for me to complete this thesis.

I am indebted to my grandfather, father, mother, brothers, sisters and all my friends who encouraged me to complete my master degree with their continuous support during the study.

Aram Khaleel Ibrahim BAJALAN

TURKEY-ELAZIĞ-2016

CONTENTS

	<u>Page Number</u>
ACKNOWLEDGMENTS.....	I
TABLE OF CONTENTS.....	II
SUMMARY.....	III
LIST OF SYMBOLS.....	IV
1.INTRODUCTION.....	1
2.MAIN DEFINITIONS AND THEOREMS.....	2
3.AMBARZUMYAN THEOREM FOR STURM-LIOUVILLE PROBLEM.....	8
4.INVERSE PROBLEM FOR STURM-LIOUVILLE PROBLEM ENERGY- DEPENDENT POTENTIAL.....	18
5.CONCLUSION.....	27
6.REFERENCES.....	28

SUMMARY

This thesis consists of six sections including the references.

In first and second sections introduction and some definitions and theorems used in the main sections are given, respectively.

In third section, Ambarzumyan's theorem for Sturm-Liouville equation with spectral parameter in boundary condition is expressed and proved.

In fourth section, we consider Sturm-Liouville problem energy dependent potential with spectral parameter in boundary condition. We give asymptotic formulas for eigenvalues and also, we proved that if the spectrums are the same for two problem, then $\int_0^\pi (q - \tilde{q})dx = 0$. Finally, we show that if the spectrum is $\sigma(0)$, then $q = 0$ almost everywhere on $[0, \pi]$.

Finally, in the fifth section, we give some conclusions.

Keywords : Ambarzumyan's theorem, Spectrum, Sturm-Liouville problem, Potential function

LIST OF SYMBOLS

$\mathbb{N}$	:	Set of the natural numbers
$\mathbb{R}$	:	Set of the real numbers
$\mathbb{C}$	:	Set of the complex numbers
$L_2[a, b]$	:	the set of all squared integrable real-valued functions on $[a, b]$.
λ	:	Eigenvalue



1.INTRODUCTION

Generally, inverse problem for Sturm-Liouville problem was introduced by the Greeks in the 19th century. However, the beginning of the inverse problem for the Sturm-Liouville operator has been demonstrated in studies conducted by Russian astrophysicist Ambartsumyan the early 20th century. In this study Ambartsumyan showed that [1] just one spectrum is enough to find the potential as zero. In fact, this idea was not true in general. Because just a single spectrum is not enough to determine the potential function as uniquely. In this study we gave the idea that the spectrum can be obtained by using knowledge of the eigenvalues of the potential function.

In spectral theory some important results have been obtained for [1-5].

$$-y''(x) + q(x)y(x) = \lambda y(x) \quad , \quad x \in [0, \pi]$$

which is known as non-dimensional time-dependent Schrödinger equation, where $q(x)$ is potential function and λ is an eigenvalue of the problem. The first study on spectral theory for such operators is in [1]. In later years, many mathematician have studied such these problems [6,7].

Essentially, there are two ways to solve the Sturm-Liouville problem first, the potential function is given in direct problems and then the spectral datas are asked to find us. In the second, given all spectral parameters like eigenvalues, eigenfunctions, etc. and then one asks to find the potential function. When we compare these problems, second is more popular. By the way, after 1980, authors showed that it is possible to find the potential function by using the zeros of eigenfunctions. This is called inverse nodal problem in the literature [7,8].

2. BASIC DEFINITION AND THEOREMS

Definition 2.1 : (Metric Space) Let X be a non-empty set. A metric (or distance)

$$d : X \times X \longrightarrow \mathbb{R}$$

such that , for $\forall x, y, z \in X$ satisfies

$$(M1) \quad d(x, y) \geq 0$$

$$(M2) \quad d(x, y) = 0 \Leftrightarrow x = y$$

$$(M3) \quad d(x, y) = d(y, x)$$

$$(M4) \quad d(x, z) \leq d(x, y) + d(y, z)$$

Then (X, d) is called metric spaces [9].

Example 2.1 : The set of all functions satisfying the condition $\int (f(x))^2 dx < \infty$ with distance

$$d(f(x), g(x)) = \sqrt{\int (f(x) - g(x))^2 dx}$$

is a metric space $L_2(\mathbb{R})$.

Definition 2.2 : (Normed space) Let X be a linear space . A norm on X is real-valued function $\|\cdot\|$ on X defined by

$$\|\cdot\| : X \rightarrow \mathbb{R}$$

$$x \rightarrow \|x\|$$

satisfying

$$(N1) \quad \|x\| \geq 0, \quad x \in X.$$

$$(N2) \quad \|x\| = 0, \Leftrightarrow x = 0 .$$

$$(N3) \quad \forall x \in X \text{ and for all scalars } \alpha, \|\alpha x\| = |\alpha| \|x\|$$

$$(N4) \quad \forall x, y \in X, \|x + y\| \leq \|x\| + \|y\|$$

Then $(X, \|\cdot\|)$ defines a normed space [9].

Example 2.2 : L_2 space is a normed space for $X = (x_1, x_2, x_3, \dots, x_n, \dots) \in L_2$ with the norm,

$$\|x\| = \left(\sum_{n=1}^{\infty} |x_n|^2 \right)^{\frac{1}{2}}$$

Definition 2.3: (Operator) For vector spaces X and Y , an operator is defined by $T : X \rightarrow Y$.

Definition 2.4: (Linear operator) Let X and Y be two normed linear space on the same field of scalars. A transformation defined by

$$T : X \rightarrow Y$$

is said to be linear if

- i) $T(x + y) = T(x) + T(y)$
- ii) $T(\alpha x) = \alpha T(x)$ for all $x, y \in X$ and for all scalars α . A linear transformation

$$T : X \rightarrow Y$$

is said to be continuous at $x_0 \in X$ if

$$x_n \rightarrow x_0 \Rightarrow T(x_n) \rightarrow T(x_0).$$

T is said to be continuous if T is continuous at each point of X . Note that T is continuous if and only if

$$x_n \rightarrow x \Rightarrow T(x_n) \rightarrow T(x).$$

Let consider a linear transformation as $T : X \rightarrow Y$, where X and Y are normed spaces. If there exists a constant $c > 0$, so that

$$\|T(x)\| \leq c \|x\|, \forall x \in X.$$

we say that T is a bounded [10].

Definition 2.5: (Hilbert space) Let X be a complex linear space. An inner-product on X defined as

$$\langle , \rangle : X \times X \rightarrow \mathbb{C}$$

which satisfies the following conditions:

- 1) $\langle x, x \rangle \geq 0$, $\langle x, x \rangle = 0 \iff x = 0$.
- 2) $\langle x, y + z \rangle = \langle x, y \rangle + \langle x, z \rangle$.
- 3) $\langle x, y \rangle = \overline{\langle y, x \rangle}$,
- 4) $\langle \alpha x, y \rangle = \alpha \langle x, y \rangle$ where $x, y, z \in X$ and α is a complex number [9]. We have

the following relation between the norm and inner product

$$\|x\| = \sqrt{\langle x, x \rangle}.$$

Example 2.3: Let $L_{2,\rho}[a, b]$ be a Hilbert space. For $x(t) \in L_{2,\rho}[a, b]$, if $\rho(t) > 0$, we can write that [9]

$$\int_a^b \rho(t) |x(t)|^2 dt < \infty$$

For $\forall x(t), y(t) \in L_{2,\rho}[a, b]$, the inner product is defined by

$$\langle x, y \rangle = \int_a^b \rho(t) x(t) \overline{y(t)} dt.$$

Example 2.4 : Let us consider the Hilbert space $L_2[a, b]$. In this space, the inner product defines for $\forall f(x), g(x) \in L_2[a, b]$

$$\langle f, g \rangle = \int_a^b f(x) \overline{g(x)} dx.$$

Definition 2.6: (Eigenvalues, Eigenvectors, Spectrum, Resolvent set).

An eigenvalue of an operator A is a λ such that

$$Ax = \lambda x$$

has a solution $x \neq 0$. Also x is defined as an eigenvector corresponding to λ . The set $\sigma(A)$ of all eigenvalues of A is called the spectrum of A . Also, we define resolvent as the complement of the spectrum. For an example, by direct calculation we can verify that $x_1 = \begin{bmatrix} 4 \\ 1 \end{bmatrix}$ and $x_2 = \begin{bmatrix} 1 \\ -1 \end{bmatrix}$ are eigenvectors of $A = \begin{bmatrix} 5 & 4 \\ 1 & 2 \end{bmatrix}$ corresponding to the eigenvalues $\lambda_1 = 6$ and $\lambda_2 = 1$ of A , respectively. How did we obtain this result, and what can we say about the existence of eigenvalues of a matrix in general? To answer this question, let us first note that

$$Ax = \lambda x \tag{2.1}$$

can be written

$$(A - \lambda I) = 0 \tag{2.2}$$

where I is the n -rowed unit matrix. This is a homogeneous system of n linear equations in n unknowns $\xi_1, \xi_2, \dots, \xi_n$, which are the components of x .

The determinant of the coefficients is $\det(A - \lambda I)$ and must be zero in order that (2.2) has a solution $x \neq 0$. This gives the **characteristic equation** of A :

$$\det(A - \lambda I) = \begin{vmatrix} \alpha_{11} - \lambda & \alpha_{12} & . & . & . & \alpha_{1n} \\ \alpha_{21} & \alpha_{22} - \lambda & . & . & . & \alpha_{2n} \\ . & . & . & . & . & . \\ . & . & . & . & . & . \\ . & . & . & . & . & . \\ \alpha_{n1} & \alpha_{n2} & . & . & . & \alpha_{nn} - \lambda \end{vmatrix} = 0. \quad (2.3)$$

We can say that $\det(A - \lambda I)$ is **characteristic determinant** of A . By developing, we obtain a polynomial in λ of degree n , the **characteristic polynomial** of A . Equation (2.3) is called the characteristic equation of A .

Let us consider a normed space X and T is a linear operator from $D(T)$ to X , where $D(T)$ is domain of T . On the other hand, let us consider an operator as

$$T_\lambda = T - \lambda I, \quad (2.4)$$

where λ is a complex number and I is the identity operator on $D(T)$. If T_λ has an inverse, we denote it by $R_\lambda(T)$,

$$R_\lambda(T) = T_\lambda^{-1} = (T - \lambda I)^{-1} \quad (2.5)$$

and call it the resolvent operator of T or simply the **resolvent** of T [9].

Definition 2.7 : (Regular value, Resolvent set, Spectrum). Let $X \neq \{0\}$ be a complex normed space and $T : D(T) \rightarrow X$ a linear operator with domain $D(T) \subset X$. A regular value λ of T is a complex number satisfying

(R1) $R_\lambda(T)$ exists.

(R2) $R_\lambda(T)$ is bounded.

(R3) $R_\lambda(T)$ is defined on a set which is dense.

The resolvent set $\rho(T)$ of T is the set of all regular value λ of T . Its complement $\sigma(T) = \mathbb{C} - \rho(T)$ in the complex plane $\mathbb{C}$ is called the spectrum of T , and $\lambda \in \sigma(T)$ is called a spectral value of T .

The **point spectrum** or **discrete spectrum** $\sigma_p(T)$ is the set so that $R_\lambda(T)$ does not exist. $\lambda \in \sigma_p(T)$ is called an eigenvalue of T .

The **continuous spectrum** $\sigma_c(T)$ is the set so that $R_\lambda(T)$ exists and satisfies R3 not R2.

The **residual spectrum** $\sigma_r(T)$ is the set such that $R_\lambda(T)$ exists (and may be bounded or not) but does not satisfy R3 [9].

Defintion 2.8:(Adjoint Operator) Assume that H be a Hilbert space and $T : H \rightarrow H$ be a bounded linear operator on H . Then the unique operator T^* defined for $\forall x, y \in H$

$$\langle Tx, y \rangle = \langle x, T^*y \rangle ,$$

is called the adjoint of T . The mapping $T \rightarrow T^*$ is called the adjoint operation on H [9].

Definition 2.9:(Self-Adjoint Operator) Considering a linear operator T on H . If $T^* = T$ we say that T is self-adjoint. And this operator satisfies

$$\langle Tx, y \rangle = \langle x, Ty \rangle , \quad \forall x, y \in H.$$

The concept of self-adjoint operator is fundamental in mathematical physics [9,11].

Definition 2.10: (Sturm-Liouville Equation) Let consider the following equation

$$c_1(x) \frac{d^2u}{dx^2} + c_2(x) \frac{du}{dx} + [c_3(x) + \lambda] u = 0 \quad (2.6)$$

where, c_1, c_2, c_3 are coefficients functions depend on x . If we introduce

$$p(x) = e^{\int \frac{c_2(x)}{c_1(x)} dx}, \quad q(x) = \frac{c_3(x)}{c_1(x)} p, \quad s(x) = \frac{1}{c_1(x)} p \quad (2.7)$$

in (2.6) we get

$$\frac{d}{dx} \left(p \frac{du}{dx} \right) + [q + \lambda s] u = 0 \quad (2.8)$$

which is known as the Sturm-Liouville equation in literature. In terms of the self-adjoint operator

$$L = \frac{d}{dx} \left(p \frac{d}{dx} \right) + q \quad (2.9)$$

it can be written briefly

$$L[u] + \lambda s(x) u = 0. \quad (2.10)$$

In the Sturm-Liouville equation (2.8) λ is a parameter independent of x and $p(x), q(x)$ and $s(x)$ are real-valued functions. To insure the existence of solutions, we let $q(x)$

and $s(x)$ to be continuous and $p(x)$ to be continuously differentiable in a closed finite interval $[a, b]$. Generally, the Sturm-Liouville equation is considered the following conditions

$$a_1 u(a) + a_2 u'(a) = 0 \quad (2.11)$$

$$b_1 u(b) + b_2 u'(b) = 0 \quad (2.12)$$

where $a_1, a_2, b_1, b_2 \in \mathbb{R}$. [11]

Defintion 2.11 (O and o) Let consider two functions f, g . If there is a constant C such that $|f(x)| \leq C|g(x)|$, we say that $f = O(g)$ and similarly if $\frac{f}{g} \rightarrow 0$, we can say that $f = o(g)$ for $x \rightarrow \infty$ [10].



3. AMBARZUMYAN'S THEOREM FOR STURM-LIOUVILLE PROBLEM

In this part, we will consider classical Sturm-Liouville equation with boundary condition depending polynomial spectral parameter [4,5,6]. Firstly, we will give asymptotic formula for eigenvalues in general case. Then, by using these formulas we prove the Classical Ambarzumyan's theorem [6,12]. All of these results were given in [3,4].

We consider the eigenvalue problem

$$-y''(x) + q(x)y(x) = \lambda y(x) \quad \text{on } [0, \pi], \quad (3.1)$$

subject to

$$y'(0) = 0, \quad y'(\pi) + f(\lambda)y(\pi) = 0. \quad (3.2)$$

that are different from the classical Sturm-Liouville eigenvalue problem. Because there is a general function depend on eigenvalue in the boundary condition at π [3,4].

In all stages we will assume that $q \in C[0, \pi]$ and

$$f(\lambda) = a_1\sqrt{\lambda} + a_2\sqrt{\lambda}^2 + a_3\sqrt{\lambda}^3 + \dots + a_m\sqrt{\lambda}^m, \quad a_m \in \mathbb{R}, a_m \neq 0, m \in \mathbb{Z}^+. \quad (3.3)$$

Let's sign the problem (3.1), (3.2) with $B = B(q, f(\lambda))$.

Generally, it is not possible to find the potential q by just one spectrum. But if the potential is symmetric on the interval, one spectrum is enough to find the potential. It is also interesting to expand this problem to the problem which is given with boundary condition depending polynomial spectral parametar [13,14].

Let $\phi_1(x, \lambda)$ be the solution of differential equation

$$-y''(x) + q(x)y(x) = \lambda y(x) \quad (3.4)$$

with initial condition

$$y(0) = 1$$

It is well known that [6,7]

$$\phi_1(x, \lambda) = \cos \sqrt{\lambda}x + \int_0^x K(x, t) \cos \sqrt{\lambda}t dt, \quad (3.5)$$

where $K(x, t)$ has derivatives with respect to the variables. Similarly, let $\phi_2(x, \lambda)$ be the solution of the differential equation

$$-y''(x) + q(x)y(x) = \lambda y(x), \quad (3.6)$$

$$y(0) = 0,$$

and $\phi_2(x, \lambda)$ can be written [6-7]

$$\phi_2(x, \lambda) = \frac{\sin \sqrt{\lambda}x}{\sqrt{\lambda}} + \frac{1}{\sqrt{\lambda}} \int_0^x K(x, t) \sin \sqrt{\lambda}t dt. \quad (3.7)$$

Furthermore, the kernel of transformation $K(x, t)$ satisfies

$$K(x, x) = \frac{1}{2} \int_0^x q(x) dx. \quad (3.8)$$

Integration by parts yields in (3.5)

$$\phi_1(\pi, \lambda) = \cos \sqrt{\lambda}\pi + K(\pi, \pi) \frac{\sin \sqrt{\lambda}\pi}{\sqrt{\lambda}} - \frac{1}{\sqrt{\lambda}} \int_0^\pi K'_t(\pi, t) \sin \sqrt{\lambda}t dt \quad (3.9)$$

and

$$\phi'_1(\pi, \lambda) = -\sqrt{\lambda} \sin \sqrt{\lambda}\pi + K(\pi, \pi) \cos \sqrt{\lambda}\pi + \int_0^\pi K'_x(\pi, t) \cos \sqrt{\lambda}t dt. \quad (3.10)$$

It is well known that [5,15] λ is an eigenvalues of the problem if and only if

$$\phi'_1(\pi, \lambda) + f(\lambda) \phi_1(\pi, \lambda) = 0. \quad (3.11)$$

Then, substituting (3.9) and (3.10) in (3.11), we obtain.

$$\begin{aligned} W(\lambda) = & -\sqrt{\lambda} \sin \sqrt{\lambda}\pi + f(\lambda) \cos \sqrt{\lambda}\pi + K(\pi, \pi) \cos \sqrt{\lambda}\pi \\ & + \int_0^\pi K'_x(\pi, t) \cos \sqrt{\lambda}t dt + \frac{f(\lambda) \sin \sqrt{\lambda}\pi K(\pi, \pi)}{\sqrt{\lambda}} \\ & - \frac{f(\lambda)}{\sqrt{\lambda}} \int_0^\pi K'_t(\pi, t) \sin \sqrt{\lambda}t dt = 0. \end{aligned} \quad (3.12)$$

We will call it as characteristic function for $W(\lambda)$ [6,15].

Now, we are ready to give asymptotics of eigenvalues and uniqueness theorem for (3.1), (3.2). By the way, we will denote the spectrum of the problem (3.1) (3.2) by $\sigma(q)$.

Lemma 3.1 [16,17]

1) If $m = 1$ in (3.3)

$$\sqrt{\lambda_n} = n + \frac{\arctan a_1}{\pi} + \frac{\int_0^\pi q(x) dx}{2n\pi} + O\left(\frac{1}{n^2}\right). \quad (3.13)$$

2) If $m = 2$ in (3.3)

$$\sqrt{\lambda_n} = n + \frac{1}{2} + \frac{\int_0^\pi q(x) dx - \frac{2}{a_2}}{(2n+1)\pi} + O\left(\frac{1}{n^2}\right). \quad (3.14)$$

3) If $m \geq 3$ in (3.3)

$$\sqrt{\lambda_n} = n + \frac{1}{2} + \frac{\int_0^\pi q(x) dx}{(2n+1)\pi} + O\left(\frac{1}{n^2}\right). \quad (3.15)$$

In particular, for the three subcases there has $0 \in \sigma_p(0)$.

Proof : By (3.12), we see that λ is an eigenvalue of the problem (3.1),(3.2) if and only if

$$\begin{aligned} & -\sqrt{\lambda} \sin \sqrt{\lambda} \pi + f(\lambda) \cos \sqrt{\lambda} \pi + K(\pi, \pi) \cos \sqrt{\lambda} \pi \\ & + \int_0^\pi K'_x(\pi, t) \cos \sqrt{\lambda} t dt + \frac{f(\lambda) \sin \sqrt{\lambda} \pi K(\pi, \pi)}{\sqrt{\lambda}} \\ & - \frac{f(\lambda)}{\sqrt{\lambda}} \int_0^\pi K'_t(\pi, t) \sin \sqrt{\lambda} t dt = 0. \end{aligned} \quad (3.16)$$

1) For $m = 1$, then $f(\lambda) = a_1 \sqrt{\lambda}$ by inserting in (3.16) we get

$$\begin{aligned} & -\sqrt{\lambda} \sin \sqrt{\lambda} \pi + a_1 \sqrt{\lambda} \cos \sqrt{\lambda} \pi + K(\pi, \pi) \cos \sqrt{\lambda} \pi \\ & + \int_0^\pi K'_x(\pi, t) \cos \sqrt{\lambda} t dt + \frac{a_1 \sqrt{\lambda} \sin \sqrt{\lambda} \pi K(\pi, \pi)}{\sqrt{\lambda}} \\ & - \frac{a_1 \sqrt{\lambda}}{\sqrt{\lambda}} \int_0^\pi K'_t(\pi, t) \sin \sqrt{\lambda} t dt = 0 \end{aligned}$$

or

$$\sqrt{\lambda} \sin \sqrt{\lambda} \pi = a_1 \sqrt{\lambda} \cos \sqrt{\lambda} \pi + K(\pi, \pi) \cos \sqrt{\lambda} \pi + a_1 \sin \sqrt{\lambda} \pi K(\pi, \pi) + O\left(\frac{e^{|\operatorname{Im} \sqrt{\lambda}| \pi}}{\sqrt{\lambda}}\right).$$

Then, we can obtain

$$\tan \sqrt{\lambda} \pi = a_1 + \frac{K(\pi, \pi)}{\sqrt{\lambda}} + \frac{a_1 K(\pi, \pi) \tan \sqrt{\lambda} \pi}{\sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right)$$

which implies that

$$\tan \sqrt{\lambda} \pi - a_1 = \frac{(1 + a_1^2) K(\pi, \pi)}{\sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right).$$

By applying same trigonometric identity

$$\tan \sqrt{\lambda} \pi - a_1 = \tan \left(\sqrt{\lambda} \pi - \arctan a_1 \right) \left(1 + a_1 \tan \sqrt{\lambda} \pi \right).$$

and

$$\begin{aligned} \tan \left(\sqrt{\lambda} \pi - \arctan a_1 \right) &= [1 + a_1 \tan \sqrt{\lambda} \pi]^{-1} \left[\frac{(1 + a_1^2) K(\pi, \pi)}{\sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right) \right] \\ &= \left[\frac{1}{1 + a_1^2} + O\left(\frac{1}{\sqrt{\lambda}}\right) \right] \left[\frac{(1 + a_1^2) K(\pi, \pi)}{\sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right) \right] \\ &= \frac{K(\pi, \pi)}{\sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right). \end{aligned}$$

Then

$$\begin{aligned} \arctan \left[\tan \left(\sqrt{\lambda} \pi - \arctan a_1 \right) \right] &= \arctan \left[\frac{K(\pi, \pi)}{\sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right) \right] \\ \sqrt{\lambda} \pi - \arctan a_1 &= n\pi + \frac{K(\pi, \pi)}{\sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right) \\ \sqrt{\lambda_n} &= n + \frac{\arctan a_1}{\pi} + \frac{K(\pi, \pi)}{\sqrt{\lambda_n} \pi} + O\left(\frac{1}{\lambda_n}\right), \\ \sqrt{\lambda_n} &= n \left[1 + \frac{\arctan a_1}{n\pi} + \frac{K(\pi, \pi)}{\sqrt{\lambda_n} n\pi} + O\left(\frac{1}{n\lambda_n}\right) \right] \\ \frac{\sqrt{\lambda_n}}{n} &= 1 + \frac{\arctan a_1}{n\pi} + \frac{K(\pi, \pi)}{\sqrt{\lambda_n} n\pi} + O\left(\frac{1}{n\lambda_n}\right). \end{aligned} \tag{*}$$

By above we obtain

$$\frac{1}{\sqrt{\lambda_n}} = \frac{1}{n} \left[1 + O\left(\frac{1}{n}\right) \right].$$

Then, inserting this value in (*), we obtain

$$\begin{aligned} \frac{1}{\sqrt{\lambda_n}} &= \frac{1}{n} \left[1 + \frac{\arctan a_1}{n\pi} + \frac{K(\pi, \pi)}{\sqrt{\lambda_n} n\pi} + O\left(\frac{1}{n\lambda_n}\right) \right] \\ &= \frac{1}{n} + \frac{\arctan a_1}{n^2 \pi} + \frac{K(\pi, \pi)}{\sqrt{\lambda_n} n^2 \pi} + O\left(\frac{1}{n^2 \lambda_n}\right) \\ &= \frac{1}{n} + O\left(\frac{1}{n^2}\right). \end{aligned}$$

Then by using

$$\frac{1}{\sqrt{\lambda_n}} = \frac{1}{n} + O\left(\frac{1}{n^2}\right),$$

we can get

$$\begin{aligned}\sqrt{\lambda_n} &= n + \frac{\arctan a_1}{\pi} + \frac{K(\pi, \pi)}{n\pi} + O\left(\frac{1}{n^2}\right) \\ &= n + \frac{\arctan a_1}{\pi} + \frac{\int_0^\pi q(x) dx}{2n\pi} + O\left(\frac{1}{n^2}\right).\end{aligned}$$

2). For $m = 2$, By (3.16), we have

$$\begin{aligned}\cot \sqrt{\lambda}\pi &= -\frac{K(\pi, \pi)}{\sqrt{\lambda}} + \frac{\sqrt{\lambda}}{f(\lambda)} + O\left(\frac{1}{\lambda}\right) \\ &= -\frac{K(\pi, \pi)}{\sqrt{\lambda}} + \frac{\sqrt{\lambda}}{a_m \sqrt{\lambda}^m} + O\left(\frac{1}{\lambda}\right) \\ &= -\frac{K(\pi, \pi)}{\sqrt{\lambda}} + \frac{1}{a_m \sqrt{\lambda}^{m-1}} + O\left(\frac{1}{\lambda}\right)\end{aligned}$$

and

$$\begin{aligned}\cot \sqrt{\lambda}\pi &= -\frac{K(\pi, \pi)}{\sqrt{\lambda}} + \frac{\sqrt{\lambda}}{a_2 \sqrt{\lambda}^2} + O\left(\frac{1}{\lambda}\right) \\ &= -\frac{K(\pi, \pi)}{\sqrt{\lambda}} + \frac{1}{a_2 \sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right) \\ &= \frac{\frac{1}{a_2} - K(\pi, \pi)}{\sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right).\end{aligned}$$

By using again trigonometric identity

$$\begin{aligned}\operatorname{arccot}(\cot \sqrt{\lambda}\pi) &= \operatorname{arccot}\left[\frac{\frac{1}{a_2} - K(\pi, \pi)}{\sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right)\right] \\ \sqrt{\lambda}\pi &= \left(n + \frac{1}{2}\right)\pi + \frac{K(\pi, \pi) - \frac{1}{a_2}}{\sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right) \\ \sqrt{\lambda_n} &= n + \frac{1}{2} + \frac{K(\pi, \pi) - \frac{1}{a_2}}{\sqrt{\lambda}\pi} + O\left(\frac{1}{\lambda}\right).\end{aligned}$$

Then,

$$\begin{aligned}
\sqrt{\lambda_n} &= \left(n + \frac{1}{2}\right) \left[1 + \frac{K(\pi, \pi) - \frac{1}{a_2}}{\sqrt{\lambda_n} \pi \left(n + \frac{1}{2}\right)} + O\left(\frac{1}{n^2}\right)\right] \\
\sqrt{\lambda_n} &= \left(n + \frac{1}{2}\right) \left[1 + O\left(\frac{1}{n}\right)\right]
\end{aligned} \tag{**}$$

$$\frac{\sqrt{\lambda_n}}{n + \frac{1}{2}} = 1 + O\left(\frac{1}{n}\right)$$

$$\frac{\sqrt{\lambda_n}}{n + \frac{1}{2}} = 1 + \frac{K(\pi, \pi) - \frac{1}{a_2}}{\sqrt{\lambda_n} \pi \left(n + \frac{1}{2}\right)} + O\left(\frac{1}{n^2}\right).$$

On the other hand, by using (**)

$$\frac{1}{\sqrt{\lambda_n}} = \frac{1}{\left(n + \frac{1}{2}\right) \left[1 + O\left(\frac{1}{n}\right)\right]}, \text{ for } n \rightarrow \infty,$$

or

$$\frac{1}{1 + O\left(\frac{1}{n}\right)} = 1 + O\left(\frac{1}{n}\right).$$

Then, we can easily write that

$$\begin{aligned}
\frac{1}{\sqrt{\lambda_n}} &= \frac{1}{\left(n + \frac{1}{2}\right)} \left[1 + \frac{K(\pi, \pi) - \frac{1}{a_2}}{n \pi \left(n + \frac{1}{2}\right)} + O\left(\frac{1}{n^2}\right)\right] \\
&= \frac{1}{n + \frac{1}{2}} + O\left(\frac{1}{n^2}\right)
\end{aligned}$$

Eventually, we can see that

$$\begin{aligned}
\sqrt{\lambda_n} &= \left(n + \frac{1}{2}\right) + \frac{K(\pi, \pi) - \frac{1}{a_2}}{\left(n + \frac{1}{2}\right) \pi} + O\left(\frac{1}{n^2}\right) \\
&= \left(n + \frac{1}{2}\right) + \frac{\int_0^\pi q(x) dx - \frac{2}{a_2}}{(2n + 1) \pi} + O\left(\frac{1}{n^2}\right).
\end{aligned}$$

3) For $m = 3$, we obtain by (3.16)

$$\begin{aligned}
\cot \sqrt{\lambda} \pi &= -\frac{K(\pi, \pi)}{\sqrt{\lambda}} + \frac{\sqrt{\lambda}}{f(\lambda)} + O\left(\frac{1}{\lambda}\right) \\
&= -\frac{K(\pi, \pi)}{\sqrt{\lambda}} + \frac{\sqrt{\lambda}}{a_m \sqrt{\lambda}^m} + O\left(\frac{1}{\lambda}\right) \\
&= -\frac{K(\pi, \pi)}{\sqrt{\lambda}} + \frac{1}{a_3 \lambda} + O\left(\frac{1}{\lambda}\right) \\
&= -\frac{K(\pi, \pi)}{\sqrt{\lambda}} + O\left(\frac{1}{\lambda}\right)
\end{aligned}$$

and

$$\begin{aligned}\sqrt{\lambda_n} &= n + \frac{1}{2} + \frac{K(\pi, \pi)}{(n + \frac{1}{2})\pi} + O\left(\frac{1}{\lambda}\right) \\ &= n + \frac{1}{2} + \frac{\int_0^\pi q(x) dx}{(2n+1)\pi} + O\left(\frac{1}{n^2}\right).\end{aligned}$$

Finally, if $m > 3$ it is easy to see that

$$\sqrt{\lambda_n} = n + \frac{1}{2} + \frac{\int_0^\pi q(x) dx}{(2n+1)\pi} + O\left(\frac{1}{n^2}\right).$$

This completes the proof.

Lemma.3.2: [16,17] Let f be Riemann integrable on $[a, b]$. Then

$$\begin{aligned}\lim_{\lambda \rightarrow \pm\infty} \int_a^b f(x) \cos(\lambda x) dx &= 0 \\ \lim_{\lambda \rightarrow \pm\infty} \int_a^b f(x) \sin(\lambda x) dx &= 0 \\ \lim_{\lambda \rightarrow \pm\infty} \int_a^b f(x) e^{i\lambda x} dx &= 0.\end{aligned}$$

Consider a second eigenvalue problem by changing q with $\tilde{q}$

$$-y''(x) + \tilde{q}(x)y(x) = \lambda y(x) \quad (3.17)$$

$$y'(0) = 0, \quad y'(\pi) + f(\lambda)y(\pi) = 0, \quad (3.18)$$

where $\tilde{q}(x)$ has the same properties of $q(x)$. In here, we want to prove if the spectrums are the coincide, then the potentials are the same.

Theorem 3.1: [16,17] Assume $\sigma_p(q) = \sigma_p(\tilde{q})$, then $\int_0^\pi [q(x) - \tilde{q}(x)] dx = 0$.

Proof: Let's consider λ_n large eigenvalue in $\sigma_p(q)$. Since $\sigma_p(q) = \sigma_p(\tilde{q})$, it follows $\lambda_n \in \sigma_p(\tilde{q})$. Thus, we obtain by (3.12)

$$\begin{aligned}& -\sqrt{\lambda_n} \sin \sqrt{\lambda_n} \pi + f(\lambda_n) \cos \sqrt{\lambda_n} \pi + K(\pi, \pi) \cos \sqrt{\lambda_n} \pi \\ & + \int_0^\pi K'_x(\pi, t) \cos \sqrt{\lambda_n} t dt + \frac{f(\lambda) \sin \sqrt{\lambda_n} \pi K(\pi, \pi)}{\sqrt{\lambda_n}} \\ & - \frac{f(\lambda)}{\sqrt{\lambda_n}} \int_0^\pi K'_t(\pi, t) \sin \sqrt{\lambda_n} t dt = 0\end{aligned} \quad (3.19)$$

and similarly for the problem (3.17), (3.18)

$$\begin{aligned}
& -\sqrt{\lambda_n} \sin \sqrt{\lambda_n} \pi + f(\lambda_n) \cos \sqrt{\lambda_n} \pi + \tilde{K}(\pi, \pi) \cos \sqrt{\lambda_n} \pi \\
& + \int_0^\pi \tilde{K}'_x(\pi, t) \cos \sqrt{\lambda_n} t dt + \frac{f(\lambda) \sin \sqrt{\lambda_n} \pi \tilde{K}(\pi, \pi)}{\sqrt{\lambda_n}} \\
& - \frac{f(\lambda)}{\sqrt{\lambda_n}} \int_0^\pi \tilde{K}'_t(\pi, t) \sin \sqrt{\lambda_n} t dt = 0.
\end{aligned} \tag{3.20}$$

By subtracting the last equalities we obtain

$$\begin{aligned}
& \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] \cos \sqrt{\lambda_n} \pi + \int_0^\pi \left[K_x(\pi, t) - \tilde{K}_x(\pi, t) \right] \cos \sqrt{\lambda_n} t dt \\
& + \frac{f(\lambda_n) \sin \sqrt{\lambda_n} \pi}{\sqrt{\lambda_n}} \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] \\
& - \frac{f(\lambda_n)}{\sqrt{\lambda_n}} \int_0^\pi \left[K_t(\pi, t) - \tilde{K}_t(\pi, t) \right] \sin \sqrt{\lambda_n} t dt = 0
\end{aligned} \tag{3.21}$$

and by lemma (3.2), second and fourth terms goes to zero as $\lambda_n \rightarrow \infty$. Then,

$$\left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] \left(\cos \sqrt{\lambda_n} \pi + \frac{f(\lambda_n)}{\sqrt{\lambda_n}} \sin \sqrt{\lambda_n} \pi \right) = 0.$$

1) If $m = 1$ and $n \rightarrow \infty$,

$$\begin{aligned}
& \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] \left(\cos \sqrt{\lambda_n} \pi + \frac{a_1 \sqrt{\lambda}}{\sqrt{\lambda}} \sin \sqrt{\lambda_n} \pi \right) = 0 \\
& \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] (\cos(n\pi + \arctan a_1) + a_1 \sin(n\pi + \arctan a_1)) = 0 \\
& \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] [(\cos n\pi \cos(\arctan a_1) - \sin n\pi \sin(\arctan a_1)) \\
& + a_1 \sin n\pi \cos(\arctan a_1) + a_1 \cos n\pi \sin(\arctan a_1)] = 0 \\
& \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] (\cos n\pi \cos(\arctan a_1) + a_1 \cos n\pi \sin(\arctan a_1)) = 0 \\
& (-1)^n \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] [\cos(\arctan a_1) + a_1 \sin(\arctan a_1)] = 0.
\end{aligned}$$

We know that

$$\begin{aligned}
\cos(\arctan a_1) &= \frac{1}{\sqrt{1+a_1^2}} \\
\sin(\arctan a_1) &= \frac{a_1}{\sqrt{1+a_1^2}},
\end{aligned}$$

then we can write

$$\begin{aligned}
(-1)^n \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] \left(\frac{1}{\sqrt{1+a_1^2}} + a_1 \frac{a_1}{\sqrt{1+a_1^2}} \right) &= 0 \\
(-1)^n \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] \left(\sqrt{1+a_1^2} \right) &= 0.
\end{aligned}$$

and we conclude that by (3.8) $\int_0^\pi [q(x) - \tilde{q}(x)] dx = 0$.

2) If $m = 2$, in this case by using (3.21) can be divided both side by $\frac{\sqrt{\lambda_n}}{f(\lambda_n)}$ we obtain

$$\begin{aligned}
&\frac{\sqrt{\lambda_n}}{f(\lambda_n)} \cos \sqrt{\lambda_n} \pi \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] + \\
&\frac{\sqrt{\lambda_n}}{f(\lambda_n)} \int_0^\pi \left[K_x(\pi, t) - \tilde{K}_x(\pi, t) \right] \cos \sqrt{\lambda_n} t dt + \sin \sqrt{\lambda_n} \pi \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] \\
&- \int_0^\pi \left[K_t(\pi, t) - \tilde{K}_t(\pi, t) \right] \sin \sqrt{\lambda_n} t dt = 0.
\end{aligned} \tag{3.22}$$

Together with (3.14) and (3.15), and if $m = 2$, then

$$\begin{aligned}
&\frac{\sqrt{\lambda_n}}{a_1 \sqrt{\lambda_n} + a_2 \lambda_n} \cos \sqrt{\lambda_n} \pi \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] + \sin \sqrt{\lambda_n} \pi \left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] = 0 \\
&\left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] \left[\frac{\sqrt{\lambda_n}}{a_1 \sqrt{\lambda_n} + a_2 \lambda_n} \cos \sqrt{\lambda_n} \pi + \sin \sqrt{\lambda_n} \pi \right] = 0 \\
&\left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] \left[\frac{\sqrt{\lambda_n}}{a_1 \sqrt{\lambda_n} + a_2 \lambda_n} \cos \left(n + \frac{1}{2} \right) \pi + \sin \left(n + \frac{1}{2} \right) \pi \right] = 0 \\
&\left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] \left[\frac{\sqrt{\lambda_n}}{a_1 \sqrt{\lambda_n} + a_2 \lambda_n} (\cos n\pi \cos \frac{\pi}{2} - \sin n\pi \sin \frac{\pi}{2}) \right. \\
&\left. + \sin n\pi \cos \frac{\pi}{2} + \cos n\pi \sin \frac{\pi}{2} \right] = 0
\end{aligned}$$

$$\left[K(\pi, \pi) - \tilde{K}(\pi, \pi) \right] (-1)^n = 0, \tag{3.23}$$

which implies that

$$\int_0^\pi [q(x) - \tilde{q}(x)] dx = 0.$$

For $m \geq 3$, we can easily prove that $\int_0^\pi [q(x) - \tilde{q}(x)] dx = 0$.

Theorem 3.2 : [16,17] Suppose $q \in C[0, \pi]$ and $\sigma_p(q) = \sigma_p(0)$. Then $q(x) = 0$ on $[0, \pi]$.

Proof : By assumption in the Theorem we, get

$$\int_0^\pi q(x) dx = 0. \tag{3.24}$$

We know that 0 is also an eigenvalue of the problem. Let u_1 be the eigenfunction corresponding to the eigenvalue 0. Then, by (3.1) and (3.2),

$$-u_1''(x) + q(x) u_1(x) = 0 \quad (3.25)$$

$$u_1'(0) = u_1'(\pi) = 0.$$

We claim that $u_1(0) \neq 0$ and $u_1(\pi) \neq 0$. Otherwise, if $u_1(0) = 0 = u_1'(\pi)$ or $u_1(\pi) = 0 = u_1'(0)$ we have a contrary to theorem of ordinary differential equation. That is, $u_1(x)$ is the eigenfunction corresponding to the eigenvalue zero.

Now, we want to show that $u_1(x)$ has at most finitely many isolated zeros in the interval $[0, \pi]$. Otherwise, let $\hat{x}$ be an accumulation point of zeros of $u_1(x)$, then $u_1(\hat{x}) = u_1'(\hat{x}) = 0$ holds true which is impossible from the uniqueness theorem of the solution of initial value problems. Let's denote $G = \{x_1, x_2, \dots, x_k : x_i \in (0, \pi), u_1(x_i) = 0\}$, then $\text{mass } G = 0$. From (3.25) we see that if $u_1(x_i) = 0$, then $u_1''(x_i) = 0$, but $u_1'(x_i) \neq 0$. Thus, the value of the function $\frac{u_1''(x)}{u_1'(x)}$ at $x = x_i$ is finite.

Collecting all of these and by (3.24) and (3.25), we obtain

$$\int_0^\pi \frac{u_1''(x)}{u_1'(x)} dx = \int_0^\pi q(x) dx = 0,$$

or

$$\frac{u_1'(x)}{u_1(x)} \Big|_{x=0}^\pi + \int_0^\pi \left| \frac{u_1'(x)}{u_1(x)} \right|^2 dx = 0$$

which implies that

$$\int_0^\pi \left| \frac{u_1'(x)}{u_1(x)} \right|^2 dx = 0.$$

Thus, we obtain $u_1(x) = c$ that is solution of (3.25). Inserting this solution in the equation, we get

$$-c'' + q(x)c = 0 \text{ on } [0, \pi],$$

thus $q(x) = 0$.

4. MBARZUMYAN THEOREM FOR STURM-LIOUVILLE PROBLEM ENERGY DEPENDENT POTENTIAL

In this part, we will give same results for Sturm-Liouville problem energy-dependent potential which is different from the problem given in section 3. Especially, we show that Ambarzumyan theorem is true for this problem.

Let's consider following problem

$$-y''(x) + \{q(x) + 2\lambda p(x)\} y(x) = \lambda^2 y(x) \quad (4.1)$$

$$y'(0) = 0, \quad y'(\pi) + f(\lambda) y(\pi) = 0 \quad (4.2)$$

which differs from the usual Sturm-Liouville eigenvalue problem in appearance of the eigenvalue parameter λ in the boundary condition at π .

Throughout this part, we assume that $q, p \in C[0, \pi]$ and

$$f(\lambda) = a_1\lambda + a_2\lambda^2 + a_3\lambda^3 + \dots + a_m\lambda^m, \quad a_m \in \mathbb{R}, \quad a_m \neq 0, \quad m \in \mathbb{Z}^+. \quad (4.3)$$

Denote the boundary value problem (4.1) – (4.3) by $B = B(q, p, f(\lambda))$.

Let $\varphi_1(x, \lambda)$ satisfies the differential equation

$$-y''(x) + \{q(x) + 2\lambda p(x)\} y(x) = \lambda^2 y(x) \quad (4.4)$$

and initial conditions

$$y(0) = 1, \quad y'(0) = 0.$$

Then, the solution $\varphi_1(x, \lambda)$ can be expressed as

$$\varphi_1(x, \lambda) = \cos[\lambda x - \alpha(x)] + \int_0^x A(x, t) \cos \lambda t dt + \int_0^x B(x, t) \sin \lambda t dt \quad (4.5)$$

for

$$\alpha(x) = x.p(0) + \int_0^x [A(t, t) \sin \alpha(t) - B(t, t) \cos \alpha(t)] dt \quad (4.6)$$

where $A(x, t), B(x, t)$ are continuous with respect to t and x and satisfy the following equation and conditions [15,18,19].

$$\frac{\partial^2 A(x, t)}{\partial x^2} - 2p(x) \frac{\partial B(x, t)}{\partial t} - q(x) A(x, t) = \frac{\partial^2 A(x, t)}{\partial t^2}, \quad (4.7)$$

$$\frac{\partial^2 B(x, t)}{\partial x^2} + 2p(x) \frac{\partial A(x, t)}{\partial t} - q(x) B(x, t) = \frac{\partial^2 B(x, t)}{\partial t^2}, \quad (4.8)$$

$$q(x) = -p^2(x) + 2\frac{d}{dx}[A(x, x)\cos\alpha(x) + B(x, x)\sin\alpha(x)], \quad (4.9)$$

$$A(0, 0) = 0, B(x, 0) = 0, \left.\frac{\partial A(x, t)}{\partial t}\right|_{t=0} = 0, \alpha(\pi) = \alpha'(\pi) = 0. \quad (4.10)$$

$$\alpha(x) = \int_0^x p(t) dt. \quad (4.11)$$

Similarly, let $\varphi_2(x, \lambda)$ be a solution of the problem

$$-y''(x) + \{q(x) + 2\lambda p(x)\}y(x) = \lambda^2 y(x). \quad (4.12)$$

$$y(0) = 0.$$

Then, the solution $\varphi_2(x, \lambda)$ can be expressed as [15]

$$\varphi_2(x, \lambda) = \frac{\sin[\lambda x - \alpha(x)]}{\lambda - \alpha'(x)} + \frac{1}{\lambda} \int_0^x A(x, t) \sin \lambda t dt + \frac{1}{\lambda} \int_0^x B(x, t) \cos \lambda t dt. \quad (4.13)$$

Applying integration by parts to (4.5), we obtain

$$\begin{aligned} \varphi_1(x, \lambda) &= \cos[\lambda x - \alpha(x)] + \frac{1}{\lambda} A(x, x) \sin \lambda x - \frac{1}{\lambda} \int_0^x \frac{\partial A(x, t)}{\partial t} \sin \lambda t dt \\ &\quad - \frac{1}{\lambda} B(x, x) \cos \lambda x + \frac{1}{\lambda} \int_0^x \frac{\partial B(x, t)}{\partial t} \cos \lambda t dt \\ \varphi_1(\pi, \lambda) &= \cos[\lambda \pi - \alpha(\pi)] + \frac{1}{\lambda} A(\pi, \pi) \sin \lambda \pi - \frac{1}{\lambda} \int_0^\pi \frac{\partial A(\pi, t)}{\partial t} \sin \lambda t dt \\ &\quad - \frac{1}{\lambda} B(\pi, \pi) \cos \lambda \pi + \frac{1}{\lambda} \int_0^\pi \frac{\partial B(\pi, t)}{\partial t} \cos \lambda t dt \end{aligned} \quad (4.14)$$

or asymptotically

$$\varphi_1(\pi, \lambda) = \cos[\lambda \pi - \alpha(\pi)] + \frac{1}{\lambda} A(\pi, \pi) \sin \lambda \pi + O\left(\frac{1}{\lambda}\right) \quad (4.15)$$

and

$$\begin{aligned} \varphi_1'(\pi, \lambda) &= -[\lambda - \alpha'(\pi)] \sin[\lambda \pi - \alpha(\pi)] + A(\pi, \pi) \cos \lambda \pi + B(\pi, \pi) \sin \lambda \pi \\ &\quad + O\left(\frac{1}{\lambda}\right) \end{aligned} \quad (4.16)$$

Eigenvalues of the problem (4.1), (4.2) are zeros of $\varphi_1'(\pi, \lambda) + f(\lambda) \varphi_1(\pi, \lambda) = W(\lambda)$. Then inserting (4.15) and (4.16) in there we obtain

$$W(\lambda) = -[\lambda - \alpha'(\pi)] \sin[\lambda\pi - \alpha(\pi)] + A(\pi, \pi) \cos \lambda\pi + B(\pi, \pi) \sin \lambda\pi + f(\lambda) \left\{ \cos[\lambda\pi - \alpha(\pi)] + \frac{1}{\lambda} A(\pi, \pi) \sin \lambda\pi \right\} + O\left(\frac{1}{\lambda}\right). \quad (4.17)$$

Lemma 4.1: Assume that $\alpha(\pi) = 0$.

1) For $m = 1$ and $n \rightarrow \infty$,

$$\lambda_n = n + \frac{\arctan a_1}{\pi} + \frac{\int_0^\pi [q(x) + p^2(x)] dx}{2n\pi} + O\left(\frac{1}{n}\right). \quad (4.18)$$

2) For $m = 2$ and $n \rightarrow \infty$,

$$\lambda_n = \left(n + \frac{1}{2}\right) + \frac{1}{a_2 \left(n + \frac{1}{2}\right) \pi} - \frac{\int_0^\pi [q(x) + p^2(x)] dx}{(2n+1)\pi} + O\left(\frac{1}{n^2}\right). \quad (4.19)$$

3) If $m \geq 3$ and $n \rightarrow \infty$,

$$\lambda_n = \left(n + \frac{1}{2}\right) + \frac{1}{a_m \left(n + \frac{1}{2}\right)^{m-1} \pi} - \frac{\int_0^\pi [q(x) + p^2(x)] dx}{(2n+1)\pi} + O\left(\frac{1}{n^2}\right). \quad (4.20)$$

Proof: From (4.17), we can write λ is an eigenvalue of B if and only if $W(\lambda) = 0$. Then,

$$W(\lambda) = -[\lambda - \alpha'(\pi)] \sin[\lambda\pi - \alpha(\pi)] + A(\pi, \pi) \cos \lambda\pi + B(\pi, \pi) \sin \lambda\pi + f(\lambda) \cos[\lambda\pi - \alpha(\pi)] + \frac{f(\lambda)}{\lambda} A(\pi, \pi) \sin \lambda\pi + O\left(\frac{1}{\lambda}\right) \quad (4.21)$$

that implies $W(\lambda) = 0$. So,

$$-[\lambda - \alpha'(\pi)] \sin[\lambda\pi - \alpha(\pi)] + A(\pi, \pi) \cos \lambda\pi + B(\pi, \pi) \sin \lambda\pi + f(\lambda) \cos[\lambda\pi - \alpha(\pi)] + \frac{f(\lambda)}{\lambda} A(\pi, \pi) \sin \lambda\pi + O\left(\frac{1}{\lambda}\right) = 0. \quad (4.22)$$

If $\alpha(\pi) = \alpha'(\pi) = 0$, then

$$-\lambda \sin \lambda\pi + A(\pi, \pi) \cos \lambda\pi + B(\pi, \pi) \sin \lambda\pi + f(\lambda) \cos \lambda\pi + \frac{f(\lambda)}{\lambda} A(\pi, \pi) \sin \lambda\pi + O\left(\frac{1}{\lambda}\right) = 0 \quad (4.23)$$

and for $\lambda \cos \lambda\pi \neq 0$.

$$\begin{aligned} & -\tan \lambda\pi + \frac{A(\pi, \pi)}{\lambda} + \frac{B(\pi, \pi)}{\lambda} \tan \lambda\pi + \frac{f(\lambda)}{\lambda} + \frac{f(\lambda)}{\lambda^2} A(\pi, \pi) \tan \lambda\pi \\ & + O\left(\frac{1}{\lambda^2}\right) = 0 \end{aligned} \quad (4.24)$$

which implies that

$$\tan \lambda\pi = \frac{f(\lambda)}{\lambda} + \frac{A(\pi, \pi)}{\lambda} + \frac{B(\pi, \pi)}{\lambda} \tan \lambda\pi + \frac{f(\lambda)}{\lambda^2} A(\pi, \pi) \tan \lambda\pi + O\left(\frac{1}{\lambda^2}\right). \quad (4.25)$$

1) If $m = 1$, then by (4.25) we have

$$\begin{aligned} \tan \lambda\pi &= \frac{a_1 \lambda}{\lambda} + \frac{A(\pi, \pi)}{\lambda} + \frac{B(\pi, \pi)}{\lambda} \tan \lambda\pi + \frac{a_1 \lambda}{\lambda^2} A(\pi, \pi) \tan \lambda\pi + O\left(\frac{1}{\lambda^2}\right) \\ \tan \lambda\pi &= a_1 + \frac{A(\pi, \pi)}{\lambda} + \frac{B(\pi, \pi)}{\lambda} \tan \lambda\pi + \frac{a_1}{\lambda} A(\pi, \pi) \tan \lambda\pi + O\left(\frac{1}{\lambda^2}\right) \\ \tan \lambda\pi - a_1 &= \frac{A(\pi, \pi)}{\lambda} (1 + a_1 \tan \lambda\pi) + \frac{B(\pi, \pi)}{\lambda} \tan \lambda\pi + O\left(\frac{1}{\lambda^2}\right) \\ \tan(\lambda\pi - \arctan a_1) &= \frac{\frac{A(\pi, \pi)}{\lambda} (1 + a_1 \tan \lambda\pi) + \frac{a_1 B(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right)}{[1 + a_1 \tan \lambda\pi]}. \end{aligned}$$

For $\lambda \rightarrow \infty$, $\tan \lambda\pi \cong a_1$

$$\tan(\lambda\pi - \arctan a_1) = \left[\frac{1}{1 + a_1^2} + O\left(\frac{1}{\lambda}\right) \right] \cdot \left[\frac{A(\pi, \pi)(1 + a_1^2)}{\lambda} + \frac{a_1 B(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right) \right]$$

or

$$\lambda\pi - \arctan a_1 = \arctan \left(\frac{A(\pi, \pi)}{\lambda} + \frac{a_1 B(\pi, \pi)}{(1 + a_1^2)\lambda} + O\left(\frac{1}{\lambda^2}\right) \right).$$

$$\lambda\pi = n\pi + \arctan a_1 + \frac{A(\pi, \pi)}{\lambda} + \frac{a_1 B(\pi, \pi)}{(1 + a_1^2)\lambda} + O\left(\frac{1}{\lambda^2}\right)$$

$$\lambda = n + \frac{\arctan a_1}{\pi} + \frac{A(\pi, \pi)}{\lambda\pi} + \frac{a_1 B(\pi, \pi)}{(1 + a_1^2)\lambda\pi} + O\left(\frac{1}{\lambda^2}\right).$$

$$\lambda_n = n + \frac{\arctan a_1}{\pi} + \frac{A(\pi, \pi)}{n\pi} + \frac{a_1 B(\pi, \pi)}{(1 + a_1^2)n\pi} + O\left(\frac{1}{n^2}\right)$$

and by using (4.11), we can obtain easily

$$\lambda_n = n + \frac{\arctan a_1}{\pi} + \frac{\int_0^\pi [q(x) + p^2(x)] dx}{2n\pi} + O\left(\frac{1}{n}\right).$$

2) By using (4.23) again

$$\begin{aligned}
& -\frac{\lambda}{f(\lambda)} + \frac{A(\pi, \pi)}{f(\lambda)} \cot \lambda\pi + \frac{B(\pi, \pi)}{f(\lambda)} + \cot \lambda\pi + \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right) = 0 \\
& -\frac{\lambda}{f(\lambda)} + \left[\frac{A(\pi, \pi)}{f(\lambda)} + 1\right] \cot \lambda\pi + \frac{A(\pi, \pi)}{\lambda} + \frac{B(\pi, \pi)}{f(\lambda)} + O\left(\frac{1}{\lambda^2}\right) = 0 \\
& \left[\frac{A(\pi, \pi)}{f(\lambda)} + 1\right] \cot \lambda\pi = \frac{\lambda}{f(\lambda)} - \frac{A(\pi, \pi)}{\lambda} - \frac{B(\pi, \pi)}{f(\lambda)} + O\left(\frac{1}{\lambda^2}\right) \\
& \left[\frac{A(\pi, \pi)}{f(\lambda)} + 1\right] \cot \lambda\pi = \frac{\lambda - B(\pi, \pi)}{f(\lambda)} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right). \tag{4.26}
\end{aligned}$$

If $m = 2$ in (4.26)

$$\begin{aligned}
& \left[\frac{A(\pi, \pi)}{a_1\lambda + a_2\lambda^2} + 1\right] \cot \lambda\pi = \frac{\lambda - B(\pi, \pi)}{a_1\lambda + a_2\lambda^2} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right) \\
& \left[O\left(\frac{1}{\lambda}\right) + 1\right] \cot \lambda\pi = \frac{\lambda\left(1 - \frac{B(\pi, \pi)}{\lambda}\right)}{a_2\lambda^2\left[\frac{a_1}{a_2\lambda} + 1\right]} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right) \\
& \cot \lambda\pi = \frac{1 - O\left(\frac{1}{\lambda}\right)}{a_2\lambda\left[O\left(\frac{1}{\lambda}\right) + 1\right]} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right) \\
& \cot \lambda\pi = \frac{1}{a_2\lambda} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right). \tag{4.27}
\end{aligned}$$

Then by (4.27) we have

$$\begin{aligned}
& \lambda\pi = \operatorname{arccot} \left[\frac{1}{a_2\lambda} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right) \right] \\
& \lambda\pi = \left(n + \frac{1}{2}\right)\pi + \frac{1}{a_2\lambda} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right) \\
& \lambda_n = \left(n + \frac{1}{2}\right) + \frac{1}{a_2\pi\lambda} - \frac{A(\pi, \pi)}{\lambda\pi} + O\left(\frac{1}{\lambda^2}\right).
\end{aligned}$$

For $n \rightarrow \infty$, $\lambda_n \cong \left(n + \frac{1}{2}\right)$, then

$$\begin{aligned}
& \lambda_n = \left(n + \frac{1}{2}\right) + \frac{1}{a_2\left(n + \frac{1}{2}\right)\pi} - \frac{A(\pi, \pi)}{\left(n + \frac{1}{2}\right)\pi} + O\left(\frac{1}{n^2}\right) \\
& \lambda_n = \left(n + \frac{1}{2}\right) + \frac{1}{a_2\left(n + \frac{1}{2}\right)\pi} - \frac{\int_0^\pi [q(x) + p^2(x)] dx}{(2n+1)\pi} + O\left(\frac{1}{n^2}\right).
\end{aligned}$$

3) For $m \geq 3$, from (4.26) we get

$$\left[\frac{A(\pi, \pi)}{f(\lambda)} + 1 \right] \cot \lambda \pi = \frac{\lambda - B(\pi, \pi)}{f(\lambda)} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right)$$

$$\left[\frac{A(\pi, \pi)}{a_1 \lambda + a_2 \lambda^2 + a_3 \lambda^3 + \dots + a_m \lambda^m} + 1 \right] \cot \lambda \pi = \frac{\lambda - B(\pi, \pi)}{a_1 \lambda + a_2 \lambda^2 + a_3 \lambda^3 + \dots + a_m \lambda^m} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right)$$

$$\left[O\left(\frac{1}{\lambda}\right) + 1 \right] \cot \lambda \pi = \frac{\lambda \left(1 - \frac{B(\pi, \pi)}{\lambda}\right)}{a_m \lambda^m \left[\frac{a_1}{a_m \lambda^{m-1}} + \frac{a_2}{a_m \lambda^{m-2}} + \frac{a_3}{a_m \lambda^{m-3}} + \dots + 1 \right]} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right)$$

$$\cot \lambda \pi = \frac{1 - O\left(\frac{1}{\lambda}\right)}{a_m \lambda^{m-1} [O\left(\frac{1}{\lambda}\right) + 1]} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right)$$

$$\cot \lambda \pi = \frac{1}{a_m \lambda^{m-1}} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right)$$

$$\cot \lambda \pi = \frac{1}{a_m \lambda^{m-1}} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right)$$

and we have

$$\lambda \pi = \operatorname{arccot} \left[\frac{1}{a_m \lambda^{m-1}} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right) \right]$$

$$\lambda \pi = \left(n + \frac{1}{2}\right) \pi + \frac{1}{a_m \lambda^{m-1}} - \frac{A(\pi, \pi)}{\lambda} + O\left(\frac{1}{\lambda^2}\right)$$

$$\lambda = \left(n + \frac{1}{2}\right) + \frac{1}{a_m \lambda^{m-1} \pi} - \frac{A(\pi, \pi)}{\lambda \pi} + O\left(\frac{1}{\lambda^2}\right).$$

If $n \rightarrow \infty$, $\lambda_n \rightarrow \left(n + \frac{1}{2}\right)$, we get,

$$\lambda_n = \left(n + \frac{1}{2}\right) + \frac{1}{a_m \left(n + \frac{1}{2}\right)^{m-1} \pi} - \frac{A(\pi, \pi)}{\left(n + \frac{1}{2}\right) \pi} + O\left(\frac{1}{n^2}\right)$$

$$\lambda_n = \left(n + \frac{1}{2}\right) + \frac{1}{a_m \left(n + \frac{1}{2}\right)^{m-1} \pi} - \frac{\frac{1}{2} \int_0^\pi [q(x) + p^2(x)] dx}{\left(n + \frac{1}{2}\right) \pi} + O\left(\frac{1}{n^2}\right)$$

$$\lambda_n = \left(n + \frac{1}{2}\right) + \frac{1}{a_m \left(n + \frac{1}{2}\right)^{m-1} \pi} - \frac{\int_0^\pi [q(x) + p^2(x)] dx}{(2n+1) \pi} + O\left(\frac{1}{n^2}\right).$$

This completes the proof.

Let consider a second quadratic Sturm -Liouville problem

$$-y''(x) + \{\tilde{q}(x) + 2\lambda p(x)\} y(x) = \lambda^2 y(x), \text{ on } [0, \pi] \quad (4.28)$$

$$y'(0) = 0, \quad y'(\pi) + f(\lambda) y(\pi) = 0 \quad (4.29)$$

where $\tilde{q}(x)$ has the same properties of $q(x)$ and $p(x)$, $\tilde{q}(x) \in C[0, \pi]$.

Theorem 4.2: Assume that $\sigma(p, q) = \sigma(p, \tilde{q})$ and $\alpha(\pi) = \alpha'(\pi) = 0$, then $\int_0^\pi [q(x) - \tilde{q}(x)] dx = 0$.

Proof : Let's $\lambda_n \in \sigma(p, \tilde{q}) = \sigma(p, q)$.

1) If $m = 1$, $f(\lambda) = a_1 \lambda$ then

$$\lambda_n = n + \frac{\arctan a_1}{\pi} + \frac{\int_0^\pi [q(x) + p^2(x)] dx}{2n\pi} + O\left(\frac{1}{n}\right) \quad (4.30)$$

and

$$\tilde{\lambda}_n = n + \frac{\arctan a_1}{\pi} + \frac{\int_0^\pi [\tilde{q}(x) + p^2(x)] dx}{2n\pi} + O\left(\frac{1}{n}\right). \quad (4.31)$$

Subtracting (4.30) and (4.31)

$$\begin{aligned} \lambda_n - \tilde{\lambda}_n &= n + \frac{\arctan a_1}{\pi} + \frac{\int_0^\pi [q(x) + p^2(x)] dx}{2n\pi} + O\left(\frac{1}{n}\right) \\ &\quad - \left\{ n + \frac{\arctan a_1}{\pi} + \frac{\int_0^\pi [\tilde{q}(x) + p^2(x)] dx}{2n\pi} + O\left(\frac{1}{n}\right) \right\} \end{aligned}$$

$$\lambda_n - \tilde{\lambda}_n = \frac{1}{2n\pi} \int_0^\pi [q(x) + p^2(x) - \tilde{q}(x) - p^2(x)] dx = 0$$

and finally we obtain $\int_0^\pi [q(x) - \tilde{q}(x)] dx = 0$.

2) If $m \geq 2$, in this case by using (4.20) and $f(\lambda) = a_1 \lambda + a_2 \lambda^2 + a_3 \lambda^3 + \dots + a_m \lambda^m$ then

$$\lambda_n = \left(n + \frac{1}{2}\right) + \frac{1}{a_m \left(n + \frac{1}{2}\right)^{m-1} \pi} - \frac{\int_0^\pi [q(x) + p^2(x)] dx}{(2n+1)\pi} + O\left(\frac{1}{n^2}\right) \quad (4.32)$$

and

$$\widetilde{\lambda}_n = \left(n + \frac{1}{2}\right) + \frac{1}{a_m \left(n + \frac{1}{2}\right)^{m-1} \pi} - \frac{\int_0^\pi [\widetilde{q}(x) + p^2(x)] dx}{(2n+1)\pi} + O\left(\frac{1}{n^2}\right). \quad (4.33)$$

Subtracting (4.32) and (4.33) and using some straightforward computations

$$\begin{aligned} \lambda_n - \widetilde{\lambda}_n &= \left(n + \frac{1}{2}\right) + \frac{1}{a_m \left(n + \frac{1}{2}\right)^{m-1} \pi} - \frac{\int_0^\pi [q(x) + p^2(x)] dx}{(2n+1)\pi} + O\left(\frac{1}{n^2}\right) \\ &\quad - \left\{ \left(n + \frac{1}{2}\right) + \frac{1}{a_m \left(n + \frac{1}{2}\right)^{m-1} \pi} - \frac{\int_0^\pi [\widetilde{q}(x) + p^2(x)] dx}{(2n+1)\pi} + O\left(\frac{1}{n^2}\right) \right\} = 0, \\ &\quad - \frac{1}{(2n+1)\pi} \int_0^\pi [q(x) + p^2(x) - \widetilde{q}(x) - p^2(x)] dx = 0, \end{aligned}$$

or

$$\int_0^\pi [q(x) - \widetilde{q}(x)] dx = 0.$$

This completes the proof.

Theorem 4.3: Assume that $q \in C[0, \pi]$ and $\sigma(p, q) = \sigma(0, 0)$ and $A(\pi, \pi) \neq 0$ then $q = 0$ almost everywhere on $[0, \pi]$.

Proof: From given assumption by Theorem (4.2), we can obtain easily

$$\int_0^\pi q(x) dx = 0. \quad (4.34)$$

Let u_1 be the eigenfunction corresponding to the $\lambda = 0$ eigenvalue. Then, by (4.1) and (4.2),

$$-u_1''(x) + q(x)u_1 = 0, \quad x \in [0, \pi] \quad (4.35)$$

$$u_1'(0) = u_1'(\pi) = 0.$$

We claim that $u_1(0) \neq 0$ and $u_1(\pi) \neq 0$. Indeed, otherwise we obtain that $u_1(x) = 0$ which is a contradiction to the fact that $u_1(x)$ is an eigenfunction. Let's consider the

condition $u_1'(0) = u_1'(\pi) = 0$. Then,

$$\int_0^\pi \frac{u_1''(x)}{u_1(x)} dx = \int_0^\pi q(x) dx,$$

$$\frac{u_1'(x)}{u_1(x)} \Big|_0^\pi + \int_0^\pi \left(\frac{u_1'(x)}{u_1(x)} \right)^2 dx = \int_0^\pi q(x) dx = 0.$$

Then by using the above conditions we obtain

$$\int_0^\pi \left(\frac{u_1'(x)}{u_1(x)} \right)^2 dx = 0.$$

And it means that $u_1' = 0$ or $u_1 = k$. Inserting this in (4.35), we obtain that $q = 0$ almost everywhere on $[0, \pi]$.

5. CONCLUSION

In this study, we consider Sturm-Liouville equation energy dependent potential with boundary condition depends on spectral parameter λ . Especially, in the boundary condition, we have a general function as $f(\lambda) = a_1\lambda + a_2\lambda^2 + a_3\lambda^3 + \dots + a_m\lambda^m$. We gave asymptotic forms of eigenvalues for all $m \in \mathbb{Z}$. Also, by using these results, we showed that when the spectrums are coincide then the potentials q and $\tilde{q}$ are the same almost everywhere on $[0, \pi]$. Then, we consider these results, it is possible to say that our results are more general then the classical Sturm-Liouville problem [16-18,20-22].



References

- [1] **Ambarzumyan V A.,1929** Über eine Frage der Eigenwerttheorie. *Z. Phys.*,**53**: 690–695.
- [2] **Borg G., 1952**, Uniqueness theorem in the spectral theorem of $y'' + (\lambda - q(x))y = 0$, *Proc. 11. Scandinavian Congress of Mathematician Oslo, Johan Grund Tanums Forlag*, 276-287
- [3] **Levitan B. M. and Gasymov M. G. 1964**, Determination of a differential equation by two of its spectra. *Uspekhi Mat Nauk.*, **19**: 3–63
- [4] **Levitan B M, Sargsjan I S. 1991**, Sturm-Liouville and Dirac Operators. Dordrecht,Boston, London: Kluwer Academic Publishers
- [5] **Marchenko V A. 1977**, Sturm-Liouville Operators and Their Applications, Naukova Dumka, Kiev; English transl: Birkhäuser
- [6] **Hochstadt H, Lieberman B.,1978** An inverse Sturm-Liouville problem with mixed given data. *SIAM J Appl Math.*, **34**: 676–680
- [7] **Koyunbakan,H., 2006**, A inverse problem for the diffusion operator, *Appl. Math. Letters*, **19** : 995-999
- [8] **Koyunbakan,H.,2008**, The inverse nodal problem for a differential operator with an eigenvalue in the boundary condition.,*Appl. Math. Letters*, **21** : 1301-1305
- [9] **Kreyszig, E., 1978**, Introductory Functional Analysis with Applications, John Wiley & Sons, New York.
- [10] **Chandrasekhar K.,2006**, Functional Analysis , Second Edition, Alpha Science International Ltd.Oxford, U.K.
- [11] **Tyn Myint-U. 1973**, Partial Differential Equations of Mathematical physics, New York.
- [12] **Yang C F, Yang X P.2009**, Some Ambarzumyan-type theorems for Dirac operators. *Inverse Problems*, 25(9)

- [13] **Binding P A, Browne P J, Watson B A.** Inverse spectral problems for Sturm-Liouville equations with eigenparameter dependent boundary conditions. *J London Math Soc*, 2000, **62**: 161–182
- [14] **Guliyev N J. 2001**, Inverse eigenvalue problems for Sturm-Liouville equation with spectral parameter linearly contained in one of the boundary conditions. *Inverse Problems*, **21**: 1315–1330
- [15] **Gasymov, M.G.. and Guseinov, Sh.,1981**, Determination Diffusion operator on spectral data, *SSSR Dokl.* **37 (2)**, 19-23
- [16] **Yang C F, Yang X P. 2009**, Ambarzumyan’s theorems for Sturm-Liouville operator with general boundary conditions. *Acta Math Sci.*, **30A(2)**: 449–455
- [17] **Yang C.F., Yang X.P.,2011** Ambarzumyan’s theorem with eigenparameter in the boundary conditions. *Acta Mathematical Scientia*, **31B(4)**:1561–1568
- [18] **Yang C F, Huang Z Y, Yang X P. 2009**, Ambarzumyan-type theorems for the Sturm-Liouville equation on a graph. *Rocky Mountain J Math.*, **39**: 1353–1372.
- [19] **Koyunbakan,H., Lesnic,D., and S. Panakhov,E.,2013**, Ambarzumyan Type Theorem for Quadratic Sturm-Liouville Operator, *Turkish Journal of Science & Technology*, vol. **8(1)**,1-5
- [20] **Chakravarty N K, Acharyya S K. 1988**, On an extension of the theorem of V.A. Ambarzumyan. *Proc Roy Soc Edinburgh.*, **110(A)**: 79–84
- [21] **Horváth M., 2001** On a theorem of Ambarzumyan. *Proc Roy Soc Edinburgh*, **131(A)**: 899–907
- [22] **Pivovarchik V N. 2005**, Ambarzumyan’s theorem for a Sturm-Liouville boundary value problem on a star-shaped graph. *Funct Anal Appl*, **39**: 148–151

C V

Name/Surname: Aram Khaleel Ibrahim BAJALAN

Contact Number: +905531057210, +9647503812659

Email Address: aram.mathematic@gmail.com
aramkhaleel@gmail.com

Date of Birth: 28/04/1988

Place of Birth: Iraq- Sulaimani

Education:

- Bsc. Degree from University of Sulaimani, College of Education/Kalar, Mathematics Department (2007-2011)

- Msc. Degree from Firat University, The Graduated School of Natural and Applied Sciences, Department of Mathematics (2015-2016)

Work Place:

- University of Garmian (2011-)